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59 J97-97 § 37 ¥97 & | @At yv7 erfdard & 1
J97-97 F: GUSI § [G9157 3 - @UE &, &, 7, ¥, & TF I/

GUE & — o7 &I 1 8 20 Fglascdid JHR & J97 & | 4% F97 1 3% #1 & |

GUE & — 97 G&I7 21 @ 24 317 TG-FHIT JHR & 97 & | J9% J97 2 371 &1
& | 37 J91 &7 IR 40 5G] G 3719 T&7T fer@r ST FMieq |

GUE T — ¥ G&IT 25 & 29 TY-IFIT JBR & 97 & | F9F Jo7 3 3H] 71 & |
37 51 BT 3T 60 J5g] & 314 73T forar ST =nfsy |

EUE T — Y97 &I 30 & 33 FH-I70T IJHR & J97 & | e Y97 5 3hl HT & |
57 Y991 7 3T 120 eg] & 3¢ &7 Io7@T ST =ey |

GUE & — Y97 &7 34 G 36 FG-STEIRT/ Fla-3meila 397 8 578 7 37-397 & |
Jcdb Jo74 3] FT & |

QUE o — 97 G&IT 37 Il HIVA-3TERT I97 & foad g1 91 & - 37 (a) 3fasra
(2 37%) 3 37(b) — YT (3 37F) | 39 Jo7 & P75 3FH & |

$T% 3laIs, €77 19 giccanad TNl & 178 Biet @97 Fied 377G e

Tl @ T W T I T 1597 T & | §7 ) & I daer gheantaa wiandT &
7@ |

«us <h
(Sgferemedta o) (20x1=20)
1815 7 ‘TorT webe shi BT feforfad ® & fopae i oft 2 1
(A) <THER = @
(B) I T
(©) fafaw-yem
(D) At a1 foremmeh
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(iv)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1

(A)  Chancellor Duke Metternich
(B) Ernst Renan

(C) William I

(D)  Otto von Bismarck

32/5/1-15 Page 3 of 27 P.T.O.
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2. frafafea & ¥ ®H-a1 o6 qdff 9Ra ® 3I9o0 qo1 ©H A (foes &) 6
fafay smarett & o feemsti & e ?

A) Teg wH
(B) 39TS 98
(C) diged
(D) 9 ad

3. fTrafafga weTsti # Fehits A 1 afem Hifve AR a8 fawed &1
T HIT |

I. gas U Rgarsa afuafa =1 a1

II. SfATare ST gcdTehs

[II. SRS Icamig
IV. 3TEgIN 3Tl <hl ST99 ol
f&reveu

(A) LILIIL IV
B) IL I IV,III
(©) LIL IV, III
(D) IIL IV, 1L I

4. T&F TIF &1 qfd & foTe 981 foshed 1 ==A i |

19 T & ANY H, SR Flgde! IER H G Hl |
‘SR e T ST T |

(A)  ufedr T

(B) wigel ¢l

(C) e firg

(D)  hoATETRHT gat
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2. Which one of the following religions emerged from eastern India and

spread in several directions through intersecting points on the °‘silk

routes’ ?
(A) Hinduism
(B)  Christianity
(C) Buddhism
(D) Jainism
3. Arrange the following events in chronological order and choose the

correct option.

I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

(B) ILI,IV,III

©) LI IV,III

(b)y IIL IV,II I

4, Choose the correct option to fill in the blank.

In the beginning of the 19t century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.

(A)
(B)
()
(D)

32/5/1-15

Pandita Ramabai

Rashsundari Devi
Tarabai Shinde
Kailashbashini Debi
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5.

Y I 1 T &9 119 hifve 3 98t fasmeq w1 =—A hifsu |

&y I &y Il
(T 3EIT) (7%)
i. BT a. T I
ii. m wiee b. 3TEH
i, HoreH c. IWES
iv. EILEUI d. ufvam s
forerea :

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

‘Tt fgu o= yomell’ Fefiiiad § 9 ford =9 1 J=ifra g 2

(A) dfHeTg (B) ufvem &

(C) HuTe™ (D) ffesm

ffafigd § @ SH-A1 YRA 1 Tad 981 Fid3e. IdeHh TS 8 ?
(A) HERTSE (B) TNES

(C)  TSId (D) st

= A w19 I fer T 3 | A1 w1 Ufeu 3R & faecy 1 =M

T |

FYT] : T B SN ARhdIAD TILATST o foTw 3ieh B |

Fo7 1 : 399 TahEm ariores awgl o o9 Zohta shi 9EAT i A S H
TErdT fierd 7 |

forerea :

(A) HUF 198 2, Afchd II Tid 2 |

(B) %I I Td 3, AAferd 1T 981 3 |

(C) YA 19 I1QHI Fal & 3 I, T 1 H&l e ¢ |

(D) I 19 II gHI |8l & itk 11, I 3hi Hal =& 787 7 |
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5. Match Column I with Column II and choose the correct option. 1

Column I Column II
(National Park) (State)

i. Kaziranga a. Madhya Pradesh

ii.  Jim Corbett b. Assam

iii.  Sunderbans c. Uttarakhand

iv. Bandhavgarh d. West Bengal

Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

8. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : It helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
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9. 9RA H fourh ARl & dcar ¥ Halyd q9d IUgH foehed &1 =@ i |

(A)
(B)
(©)
(D)

YR qiaerT 7 fagr

favar & g

o = — i g ais

T A - gfowm I i
EEECIREl - o 9 "R
bl S faw - e wied 9 SR

10. WA ogW § 9y-Fuga 8 seiyd SEfafed seus o d9iey 3R |8

fdereg =1 == i |

L.
II.

III.

AT UsT 9 ford) ot g9 ) Torehia o o7fierr =181 fomam 2

gfga gt arient ot et ff 99 &1 Io @ IR =R w1 A
TS < & |

giag™ od & YR W fort IH a1t Tordt @ o Hewa sl duniaes
N T 2 |

IV. Ig «ifties agern § gurar gfead e & foe smam st enfides amet
T g < T AMRHR a1 B |

forerea :

(A) wHhaa L1914 2 |

(B) had [ IId VTS B |

(C) whaa L II9 IVES 2 |

(D) had IL 119 IVES 2 |

11. 9Rd % A AN H ToHIdeh gall o GUR o o eafafegd & @ sF-a

THaH IS ?
(A) TA-ded Sl Ushd o Toru "faam gsnya fomam |
(B) 3IEearl skl 9Y-UF o g STk HIHAT h1 ST AT g1 |

()
(D)

32/5/1-15

IAEERT =l I9Y-TF o GRI 79T Fufd ST S ST JAT |
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9. Choose the most appropriate option regarding the division of legislative
rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1
I. The Indian State has not adopted any religion as its official
religion.
I1. The Constitution gives freedom to all the citizens to practice and
propagate any religion.
III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.
IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.
Options:
(A)  Only I, IT and III are correct.
(B) Onlyl, II and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.
11. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A)
(B)

()
(D)

32/5/1-15

Amended the Constitution to prevent defection.

Candidates will have to give the details of criminal cases on
affidavit.

Candidates will have to give details of their property on affidavit.

It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.

Page 9 of 27 P.T.O.




12. = @ %ua fau mu g | I firenud (A) 3R HRW (R) @ | SF1 el i dfeu
3R Gl foeheg =1 =9 hIfSe |
B (A) : WRA H TEEATT SHEAT hl HIART 2 |

FRU(R) : 98 WRd & g gmiiies 3 dimferer foasmareti o gie g d
Tq g |

forerea :

(A (A) 3R (R) gHI T& & 3R (R), (A) H & =& 7 |

(B) (A) 3R (R) gH1 T& 7, AR (R), (A) T T =amen 757 2 |
(C) (A) &l g, Ak (R) TeTd 2 |

(D) (A) T &, AT (R) 981 2 |

13. YRA % AHAYM o IIHR FHHfAIRad § & -1 Toh TG W9 8 2

(A)  Aegd
(B)  TedTelt
(C) =Tt
D) TSI

14, = g ®H 19 11 fGC T & | QA1 Al I UG 3R G8l foheq &1 <=M

T |

FI7]: WAfgand 39 faftd =gaqmE § |fshy &9 4 IeH ¢ Tl 8 TR e,
?ﬁm,a@a,uﬁwamﬁwﬁmaﬁﬁrwﬁ{ﬁwﬁﬁmﬁ

|

FYTII : s faumm &t ToHifae  Afveate o ToHifas Maed =
HTeSI-eh Sfta H HfgaATeTl shl fHepT hl IGH H F&TIdT hl 7 |

farepeu .

(A) %A1 HS 7, afehd 11 7@ 2 |

(B) YA I 7@id ®, <ifehd I1 §1T & |

(C) I 19 IIgHI Hal & 3T 11, 1 h! T8 =1 ¢ |

(D) ¥ 19 11 gFT T2l &, Al 11, I 1 Tdt =amen 77 2 |
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12. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B) Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various

professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political

mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
32/5/1-15 Page 11 of 27 P.T.O.
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15. T BN 8 Tia § T FhEM T1d o HIEHR 8§ I AIHH o419 ¢ W R Al @,
Tifeh 98 30 9198 b § TeIT T graT | el IR 98 S d B S gl W
O A 8 | 98 HR-ER HHTHR FEHN H sk g1 sh! k1 Fehld 8 |
wwwﬁéﬁﬁiﬁwwmwaﬁqﬁmﬁiﬁaﬁﬁﬁﬁw%?
(A) ®|°h Teh HghNI UG °h Kqﬁ SR HIAT 7 |
(B) % FRUI-IW <! feufa =1 gloars=e s 2 |
(C) S a&gatl 1 A AGH-YgH FHfTad it B |

(D) S fpE™ A1 I & F=1dT 2 |

16. feu v fum <t 2fgw | fom d fovan SR aren v f=faRea & @ forg snfdes
&eh o 3TaTTd AT & ?

(A) e | o B) ﬁ?ﬂw
(C) qdreh (D) =g

Fig: [[EcIRad 397 FaT gieeaniaa qhemiaal & 1o/ 397 G116 & &7 W E |
‘b1 <t Well’ rdferaeen & fmfafaa & @ fopa & & faia 3Tt @ 2
(A)  wTftes (B) fgdio
(C) qarreh (D) <qeh

17. 9 @ %y for MU E | A Afirepud (A) 3N SR (R) & | SFT UHl s gfey
IR T faerew &1 ==[ HifT |
WW(A):%[ﬁmﬁa‘qwﬁaﬂwéaﬁqmﬂﬂaﬁWT&maﬁmﬁﬁ

|

HR (R) : gﬁ Y ol o o (7T momeR 3R o=y SwrsTal s S ggdt

f&reweu

(A) (A)aﬂUR)aﬁaﬁ%aﬁx(R) (A) hl Tl TR B |
(B) (A) 3R (R) ZHI &l &, AT (R), (A) 1 Hel =@ 757 ¢ |
C) (AT E, A Q’|I°h-1 (R) TTeTd & |

(D) (A) TeId &, A (R) 981 2 |
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15.

16.

Note :

17.

32/5/1-15 Page 13 of 27 P.T.O.

In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ?

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.

(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.




18. fr=fafga ¥ @ 9w Sederwor’ # i @ 2
(A) IR Tl i SGHT

(B) SR AU hl BT

(C) AR GRI GEY &% W 0T ot
(D) aEg3l W AT, f0a e Ser

19. T=fafga 4 9 frm g 1 wiRd o TR H Reedl wdilees & ?

(A) gt
(B) gtk
(C) qdreh
(D) <qIH

20. fCUu TU A W ¥ RO % UG AAi B gHC AR FEl fowhed w1 =TEA

HIRIT |

I &

II. HEHR

III. |&hRl FHfar
IV. =i

faeeu :

(A) I 19 II
(B) had 1149 III
(C) had 19 III
(D) had 19 IV
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18. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade
(D) Increasing import, export duty on goods
19. Which one of the following sectors has the highest share in employment
in India ? 1
(A)  Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary
20. Select the formal sources of credit from the given sources and choose the
correct option. 1
I. Bank
I1. Moneylender
III. Cooperatives
IV. Businessman
Options:
(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D) OnlyIand]IV
32/5/1-15 Page 15 of 27 P.T.O.




21.

22,

23.

24.

25.

26.

27.

28.

29.

Qs &
(et wg-Sw{E ) (4x2=8)
dicTgdl Sdisel 8 Y8 WRAIT SUHSIE <hl SAIINeh Aedeh o JdIg H heold
feufa =1 off 2 = i | 2
(a) ‘@S IR AT 99T HEENG SgEl § fUed 8 17 39en afgd 39
I hl AR hifvT | 2
AAAT

(b) “uagrEriE a1 o faema wen A @it ue S 2@ 17 3w |fga 39
I hl =Rt hifv | 2
WA Gfaea™ § foaehgiontur shl STTa9aehdT ST Tl shl TS ? TS <hIfTT | 2

IYSToRT0T I WG A W YT Td FaR IRl § forehtd T &I hileh hd
@1 ? T hifSu | 2

Qus T

(g3 wEA) (5x3=15)

(a) TfaT TEF AGREH H Higarsdi i ikl i TN Algd &

HifT | 3
AAAT

(b) Sl AT & SR URAR olieh hermatl 3 Tdiehl 4 Tsedre & fo=m

! TorE TR HeTeM TR ? TR0 Higd SAT& hivY | 3
RATT Y TR A9t o fohegl diF THTEi 1 UM 1T | 3
A | TSI ol o ue foheal o= gtfoRn o1 forgetwor Hifsm | 3
W <hl TETcHeh IMEA FaT shl foheal a9 famivarstt =1 guH <hifse | 3
IAAE THT B groiiIar <1 fos faema & fou sifsamd =1 59 w2 2 et
giga same IS | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B

(Very Short Answer Type Questions) (4x2=8)

Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

(a)  “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b) “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2

Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. 2

How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)

(a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with

examples. 3
Describe any three impacts of globalisation on Indian agriculture. 3
Analyse any three challenges faced by political parties in India. 3
Describe any three characteristics of the Indian federal system. 3

Why has the issue of sustainability become essential for development in
present times ? Explain with example. 3

32/5/1-15 Page 17 of 27 P.T.O.




30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Lus 9
(Srdt-zwhT weA) (4x5=20)
SATTal TURTSY o Whioh(Ul H SYEY HicEHT shi YfHep 1 Hodrehd
i | 5
AT
ST oh TEhTehtUl | 3TTel Ji TorEdTeh ehl Y[HRT h1 HeAThA hilvTT | 5
“fafamior s o & o i e Twe 9 8 17 39 e %l =T
3allgu | 5
AT
“iY Td ITNT THGE b [k & |7 $E HAA hl ~AHTI 38U | 5
JTEAHA SR TS I HHA i H ARhAA ohl H[Weh! hi IGEWN Higd
ST HIfT | 5
AT
Alehdd fohT JohR Ush 9Y I 8 ? 3ST8L0N Higd I shifoT | 5
anifefer Tfafafert & Gesi-es wa s &5 | 37aT Tose hifay | 5
AT
aTfden Tifafafert & Snfed wa SETSd & H T T hifaT | 5
Qus &
(hE-_STTeTia /|a - AT 99 ) (3x4=12)

fau T &t = ufey 3R 38k i QU MU gl % IR AT

BUTS WA AT

SFY TEeE fEaehl 9 1780 ¥ 777 ol A Ush WTdligsh UiHehl ohl

gt & o, e gg i 3 ufoarfya forn, g fopelt o foiw 3uersy

STETRIh UEehl, ST fopdlt o I9Td § &1 2 | I+ I8 Yl Wd | 99 I
e SAUHAREE I W ANG, Mt st 3T off, iR 3§ I wadar W
A ot | fEh & IR fammae sar o S gt 6 fosh @ 2 svasr ot
A 9 | Tifehd T1Y & 98 9Rd | R Iiss T AT H ST eIt
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Evaluate the role of Giuseppe Mazzini in the unification of the
Italian Republic.

OR

Evaluate the role of Otto von Bismarck in the unification of
Germany.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR

“Agriculture and Industry move hand in hand.” Justify the
statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.
OR

How is democracy a legitimate government ? Explain with
examples.

Explain the differences between public and private sector of
economic activities.

OR

Explain the differences between the organised and unorganised
sector of economic activities.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,

a weekly magazine that described itself as ‘a commercial paper open to

all, but influenced by none’. So it was private English enterprise, proud of

its independence from colonial influence, that began English printing in

32/5/1-15

Page 19 of 27 P.T.O.




NN\

off BIAT o7 | 3HH IS B Ta S aRd gfee™ J fgaehl T goheHT
oo, ofR T8 Tl STF-UT STEEN & YoM ol Ticalgd HEl &
e S snufases o9 & Sfd W B g9l & 39l &1 N T | T3NEd] Tl
% I T H3-HN THA-IERN DU M | FO RgEarl Wi 0 FTEER Do
Y | U ] H U o1 TS UHHATET UF o hisl @ TR 9e= gl
YRR FI77eT 7972 |

(34.1) g JMH Tkl g/ guifed ufSem ‘F7er 792 fopg ot ©

TRITRIA g3 ? 1

(34.2) SV 3TMTEeH Tgaehl T YoheHT T TohaT T/ 2 1

(34.3) 1780 % Tk o SN Tohd @AW k! TicHTed fhIT =T ? 3= oA
TiedTed fomam T 2 1+1=2

35. feuw &g =1 ufew 3t 3ges fi9 feu U ywat & I A .
HHTAT hT TIE0T

AT TR W Faferd qlieh & TEEE TR0 hl gehleld 1968 § #o7e
377 U7 A i | AT 1974 H IHER 7 9 [&dh LT 397 2 |pT | 39
o @@ TiTefiSit o g9 1 T SR TR @ segia i 7 | 1987 § greecis M
e grr afvges T W FEe" WV § qATgR AWeE T T | 59 R
‘Gaq 9o faerE’ (Sustainable Development) 3T T J&qd 3R
THTY TV hi Fehierd i | I8 FAIe a1 H §817 @73 9iasT (Our Common
Future)?ﬁﬁﬁw%w&w%lﬁ@ |sﬂwﬁﬁ@3ﬁr%€r@
ANTEH Tl € S, Seia § 1992 7 ARG geell sred g foram T |

(35.1) Tad Ao faesm 1 319 Tyse i | 1
(35.2) TSie1-21" ol fop TSI TriieH # Telieha Teram T 2 1
(35.3) T o Tehegl 2 IRumHT <hl =T hifvu | 2x1=2
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India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explain any two outcomes of the Summit. 2x1=2
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36. feu u &g =1 4feu 3R 3s Hfiw feu eyt & 3w difSe
TEhRT giufaat 9 /ot

Sohl & AATaT UHIT &3 H TE KO I Uk AT @I Tghil GHfadi & |
TghI AMUfd & TC8T 391 THTEHT i $S &1 § HgAT o oI T Hid @ |
ﬁwﬁwwﬁaﬁﬁﬁﬁm% S8 - fepam, gﬂ%ﬁ@aﬁ@ﬁ@ﬂ@
3CATIG <hl TEhII AT | Wk HhI A HHg{ * -Mcdoh Teh 719 H
HE 8 | 39 2300 ThEM e B | I8 U4 HSE U ST AT ]
g | 39 M1 YSit Sl FROMYR AFd U, 39 Tehil GMfd 4 S & a8 R0 I

o 2 | 38 it o1 3=a9T qu\iﬁ ol ¢ o foIT TR SITaT B | 98 kO
I o &G sl sl QU SR Y& foRAT ST Hehal 2 |

Uk TghR AT HiY ITHT GG, Tl AT HY SATIR HH, ASA! The,
T T SR 31 fafya TR & @l & fole R o1 it g |

(36.1) ‘N HEHR AT U4 TGEIT I KU TGH i oh [T 99 hE

39Sy AT & ? 1
(36.2) ‘FUH HEHR AUCAT TIH TGl hl fohd THR o FI YGH Hid
297 1
(36.3) Ut wEenr( wiufeat awfor &= | = gredg @ 2 2
Qus A
(Wt SRtvTe-SneaTiE Te) (2+3=5)

37. (a) TCU T wWa & TSHITd W@I-AFEA (8 27 W), § & TN 6l ‘A’ 3R
‘B o ®Y H 3fehd fopam M & | FAfaga SHepil bt ggmar @ 3=
qEaT-U 37 39k Tal 910 37k ey @i 75 W@rett 1 fefgu

A. 98 TIH S8l 1920 H AR TSGR HiUH 1 SREIH g3 AT | 1

B. 9% T gl Teist 5 T I Il o | 1
(b) WRA & H ToHifdes t@-aHfes & fFafafes § o 6 @7 =t

ST TRl | RISy 3R 3 9™ AT : 3x1=3

(i)  FANSAT — TIg FTEh hl TH
(i) THEY — YR S G

(ili) <PTSAl — THE THG I

(iv) HHHaThy — TaUsE 9y o
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36. Read the given source and answer the questions that follow :
Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(36.2) What are the different types of loans that ‘Krishak Cooperatives’
offer to their members ? 1
(36.3) Why are such cooperatives desirable in the rural areas ? 2
SECTION F
(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port
(iv) Meenam Bakkam — International Airport
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Fig: [REfiiga 3o7 @i ghearfaa qhgmaar & o7 397 §&q1 37 & € T
&/

fabgT aier 3941 & I G | 5x1=5
(37.1) 3@ USH &1 AW foifgu Sgf 1927 # 9T T S0 o1 Ay
T3 o1 |

(37.2) 3 TIH o1 A9 fARGw STgl et 5 THeh i arer o |

(37.3) 39 U¥ ol 9 faIRau &7 doAfea g 37k il @4 f€9d & |
(37.4) Torm U9 ® AMEY aTdE St 93 o g 2

(37.5) 38 UST ol A1 IREUC S8l et T Ja- e 3 |

(37.6) 3 USA 1 AW ARG gl HHHeTRY ey 9 IoH €d 7 |
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/1-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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For question no. 37

TR T ATk FET-ATH A
Political Outline Map of India
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